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BECE-002 : INDIAN ECONOMIC DEVELOPMENT : 
ISSUES AND PERSPECTIVES 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer the questions as per the instructions given 
in each section. 

SECTION A 

Attempt any two questions from this section in about 
500 words each. 	 2x20=40 

1. Present in brief the profile of changing policies 
and strategies of development in India beginning 
with the Nehru — Mahalanobis framework to the 
current stage. 	 20 

2. Describe in brief the important demographic 
features of India as they obtain presently. 	20 

. Examine the objectives and limitations of 
budgetary policy. Also state in brief the main 
aspects of India's tax structure. 	 10+10 
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4. How did the Green Revolution strategy of 

growth differ from the earlier agricultural 

strategy ? Also examine the long-term problems 

of growth that are being faced by the Indian 

agricultural sector presently. 	 10+10 
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SECTION B 

Answer any four questions from this section in about 
250 words each. 	 4x12=48 

5. Examine the role of MNCs in an emerging 
economy like India. Why is it necessary to 
regulate them ? 	 6+6 

6. What are SEZs ? Present in brief the arguments 
for and against SEZs in India. 	 4+4+4 

7. Distinguish between Balance of Trade Deficit 
and Current Account Deficit. What policies can 
be adopted to control Current Account Deficit ? 4+8 

8. Examine in brief the function of WTO. Also state 
very briefly any two agreements being 
administered by the WTO. 	 6+6 

9. State in brief the various weaknesses associated 
with the (i) education sector, and (ii) health 
sector in India. 	 6+6 

10. What is `Micro-finance' ? What role is played by 
NGOs in this sector ? 	 6+6 
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SECTION C 

Answer any two questions from this section in about 
100 words each. 	 2x6=12 

11. Distinguish between economic growth and 
economic development. 	 6 

12. What do you mean by 'federal finance' ? 	 6 

13. Distinguish between Revenue expenditure and 
Capital expenditure. 	 6 

14. Mention in brief the different types of subsidies 
paid by the government in India. 	 6 
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